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Question 1:
One of these representations is not like the others. Which one doesn't belong?

o .
"The object's
1’_‘ vertical
acceleration
Arrows changes by -9.8
represent
velocity I_ m/s every
vectors second.
t Vx Vy 1’
(s) (m/s) (m/s)
0.0 | 8.0 0.0 I
1.0 | 8.0 -9.8
20| 80 | -19.6 Arrows
represent
3.0 8.0 '29.4 force
40 | 80 | -39.2 vectors I




Question 2:
One of these representations is not like the others. Which one doesn't belong?

"The object's

vertical 1’_‘

acceleration

changes by -9.8 Arrows
m/S every represgnt
second.” tzi,",‘g,'g ‘
I t | v | vy
(s) | (mfs) | (m/s)
I 0.0 | 80 0.0

) 10| 80 | -9.8

rrows

roprosent 20 | 80 | -19.6
force I 3.0 8.0 -29.4
VRGIrS 40 | 80 | -39.2




Question 3:
One of these representations is not like the others. Which one doesn't belong?

o
"The object's
horizontal | G
velocity is
constant; it's Arrows
vertical velocity ’eﬁgfcs:”’
is changing." vectors I—
I t | vx | vy
(s) (m/s) (m/s)
I 00| 80 | 0.
. 1.0 | 80 | -9.8
represent 20 | 80 | -196
acceleration I 3.0 8.0 -29.4
vectors 40 | 80 | -39.2




Question 4:
One of these representations is not like the others. Which one doesn't belong?

Arrows Amows
represent represent
force .
vectors accvtgce{rg!rt;on I
“The object's t Vx Vy
horizontal (s) | (m/s) | (m/s)

0.0 8.0 0.0
1.0 8.0 -9.8
2.0 8.0 -19.6
3.0 8.0 -29.4
4.0 8.0 -39.2

velocity is
constant; it's
vertical velocity
is changing."




Question 5:

One of these representations is not like the others. Which one doesn't belong?

.—b
— "The object’s
vertical
Arrows acceleration is
t . . .
veiocity increasing as it
vectors ‘ falls. n
t dx ay I
(s) | (m/s?) | (m/s?)
0.0 | 0.0 -9.8 I
1.0 | 0.0 -9.8 .
rmows
2.0 0.0 -9.8 represent
3.0 0.0 -9.8 acceleration I
40 | 00 | -9.8 NBGIOKS




Question 6:

One of these representations is not like the others. Which one doesn't belong?

I

Arrows
represent
acceleration
vectors I
t dx dy

(s) | (m/s?) | (m/s?)
0.0 0.0 -9.8
1.0 0.0 -9.8
2.0 0.0 -9.8
3.0 0.0 -9.8
4.0 0.0 -9.8

—

Arrows
represent

velocity
vectors

"The object'’s
vertical
acceleration is
increasing as it
falls."



Question 7:

One of these representations is not like the others. Which one doesn't belong?

I

Arrows
represent
force
vectors I
t | wx Vy
(s) (m/s) (m/s)
0.0 12.0 -9.8
1.0 12.0 -9.8
2.0 12.0 -9.8
3.0 12.0 -9.8
4.0 12.0 -9.8

S

Arrows
represent

velocity
vectors

-

"The object's
horizontal
velocity is

constant; it's

vertical velocity
is changing.”



Question 8:

One of these representations is not like the others. Which one doesn't belong?

I

Arrows
represent
acceleration
vectors I
t | vx Vy

(s) (m/s) (m/s)
0.0 12.0 0.0
1.0 12.0 -9.8
2.0 12.0 -19.6
3.0 12.0 -29.4
4.0 12.0 -39.2

—

Arrows
represent

force
vectors

"The object's
horizontal
velocity is

constant; it's

vertical velocity
is changing."



Question 9:
One of these representations is not like the others. Which one doesn't belong?

I o t | wx Vy
I—‘ (s) (m/s) (m/s)
0.0 | 33.9 19.6
| Arrows 1.0 | 33.9 9.8
Rgpresenr 2.0 | 33.9 0.0
o
Veotors ‘ 30 | 339 | 9.8
4.0 | 339 | -19.6

"The time to rise o
to the peak 1
location equals I
the time to fall l Arrows
from the peak Represent
location." A aciors I



Question 10:
One of these representations is not like the others. Which one doesn't belong?

"The time to rise I ®
to the peak I
location equals
the time to fall l Arrows
Represent
from the peak Acceleration
location." Viaciors
I t Vx Vy
I_‘ (s) | (m/s) | (m/s)
0.0 | 339 | 196
Arrows 1 .0 33-9 9.8
L Represent 2.0 | 339 0.0
Velocity
Vectors ‘ 3.0 | 33.9 -9.8
4.0 | 339 | -19.6




Question 11:
One of these representations is not like the others. Which one doesn't belong?

"The projectile I
has a zero I I
velocity at the Arrows
highest Aepresent
. Acceleration
location.” I vectors I
¢ t Vx Vy
L. T (s) | (m/s) | (mis)
0.0 | 339 | 19.6
‘ Arrows 1.0 | 33.9 9.8
Represent 20| 33.9 0.0
Velocity - : '
Vectors | 3.0 | 33.9 -9.8
4.0 | 33.9 | -19.6




Question 12:
One of these representations is not like the others. Which one doesn't belong?

t Vx Vy LH

(s) | (mfs) | (m/s) I—‘
0.0 | 339 | 19.6
10| 339 | 98 | o
20| 339 | 0.0 Reprosent
30| 339 | -9.8 velacily ‘
40 | 339 | -196

I "The projectile
I I has a zero
R;*;’,‘;“s’im velocity at the
Force hlgheSt

vect -
I oeors I location."



Question 13:
One of these representations is not like the others. Which one doesn't belong?

t | wvx Vy

(s) | (m/s) | (m/s) "The object's
00| 16.0 | 0.0 acceleration is
1.0 | 16.0 -9.8 directed
2.0 | 16.0 | -19.6 downward.”
3.0 | 16.0 | -29.4
4.0 | 16.0 | -39.2
"The object's I
horizontal I
velocity is
constant; it's ,e’,‘,’,’;’;’f,,,
vertical velocity velocity

. " /(
is changing." vectors I



Question 14:

One of these representations is not like the others. Which one doesn't belong?

t Vx Vy
(s) | (m/s) | (m/s)
0.0 | 16.0 0.0
1.0 | 16.0 -9.8
20 | 16.0 | -19.6
3.0 | 16.0 | -29.4
4.0 | 16.0 | -39.2

"The object's

horizontal
velocity is

constant; it's
vertical velocity
is changing."

"The object's
vertical
acceleration
changes by -9.8
m/s every
second.”

.

Arrows
represent

velocity
vectors



Question 15:
One of these representations is not like the others. Which one doesn't belong?

- H
"The object's
vertical !
acceleration
changes by -9.8 Arrows
represent
m/s every velocity I—
second-" vectors

t Vx Vy

The object's (s) | (m/s) | (m/s)

horizontal 00! 16.0 | 0.0
velocity is 1.0 | 16.0 | -9.8
constant; it's 20| 16.0 | -196
vertical velocity 30 | 16.0 | -29.4

is changing." 40 | 16.0 | -39.2




Question 16:
One of these representations is not like the others. Which one doesn't belong?

p Arrows
frows represent
represent

velocity
force vectors
vectors

t Vx Vy
(s) | (m/s) | (m/s)

"The object's

horizontal 00 | 0.0 -9.8
velocity is 10| 0.0 | -9.8
constant; it's ool 00 | -98
vertical velocity 30| 00 -9.8

is changing." 40| 00 | -9.8




Question 17:

One of these representations is not like the others. Which one doesn't belong?

I

Arrows
represent

acceleration
vectors I

"The object's
vertical velocity
changes by the

same amount
every second.”

t | dx | dy
(s) (m) (m)
0.0 0.0 0

1.0 8.0 -4.9
2.0 16.0 | -19.6
3.0 24.0 | -441
4.0 32.0 | -78.4
t Vx Vy

(s) (m/s) | (m/s)
0.0 8.0 -9.8
1.0 8.0 -9.8
2.0 8.0 -9.8
3.0 8.0 -9.8
4.0 8.0 -9.8




Question 18:

One of these representations is not like the others. Which one doesn't belong?

t dx dy t Vx Vy
(8) | (m) | (m) (8) | (mfs) | (m/s)
0.0 | 0.0 0 00 | 80 | -9.8
1.0 | 80 | -4.9 1.0 | 8.0 | -9.8
2.0 | 16.0 | -19.6 20 | 80 | -9.8
3.0 | 24.0 | -44.1 30 | 80 | -9.8
4.0 | 32.0 | -78.4 40 | 80 | -9.8

I "The object's

I

Arrows

vertical velocity
changes by the

represent
acceleration I

same amount

vectors every second.”



Question 19:

One of these representations is not like the others. Which one doesn't belong?

t Vx Vy
(s) (m/s) | (m/s)
00 | 80 | -9.8
1.0 | 80 | -9.8
20 | 80 | -9.8
30 | 80 | -9.8
40 | 80 | -9.8

t dx dy
(s) (m) (m)
0.0 | 0.0 0
1.0 | 8.0 | -4.9
2.0 | 16.0 | -19.6
3.0 | 24.0 | -44.1
40 | 32.0 | -78.4

"The object's
vertical velocity
changes by the

same amount
every second.”

[

Arrows
represent

acceleration
vectors I



Question 20:
One of these representations is not like the others. Which one doesn't belong?

"The object's I
vertical velocity I
changes by the p—
same amount represent
lerati
every second." Vectors I
t dx dy t Vx VV
(8) | (m) | (m) (s) | (m/s) | (m/s)
0.0 | 0.0 0 00 | 80 | -9.8
1.0 | 80 | -4.9 1.0 | 80 | -9.8
2.0 | 16.0 | -19.6 20 | 80 | -9.8
3.0 | 24.0 | -44.1 30 | 80 | -9.8
4.0 | 32.0 | -78.4 40 | 80 | -9.8




Question 21:

One of these representations is not like the others. Which one doesn't belong?

t Vx Vy
(s) (m/s) (m/s)
0.0 | 12.0 0.0
1.0 | 12.0 -9.8
20 | 120 | -19.6
3.0 | 120 | -294
40 | 120 | -39.2

t | dx | dy
(s) | (m) (m)
0.0 | 12.0 -9.8
1.0 | 12.0 -9.8
2.0 | 12.0 -9.8
3.0 | 12.0 -9.8
4.0 | 12.0 -90.8

o—
Arrows
represent
velocity I_‘
vectors
"The object
covers the

same horizontal
distance every
second.”



Question 22:
One of these representations is not like the others. Which one doesn't belong?

o—

t Vx Vy

I—‘ (s) | (m/s) | (m/s)

0.0 | 120 | 0.0

Arrows 1.0 | 12.0 | -9.8
represent 20 | 120 | -19.6

veloci

veloity [ 3.0 | 12.0 | -29.4
4.0 | 12.0 | -39.2

"The object t | d« | dy
covers the 8) | (m) | (m)

] 0.0 | 120 | -9.8

same horizontal 10 | 120 | -98
distance every 20 | 12.0 | -9.8
second.” 30 | 120 | -9.8

40 | 120 | -9.8




Question 23:
One of these representations is not like the others. Which one doesn't belong?

t dx dy t Vx Vy
(s) | (m) (m) (s) | (m/s) | (m/s)
00 | 120 | -9.8 00 | 120 | 0.0
1.0 | 12.0 | -9.8 1.0 | 120 | -9.8
20 | 120 | -9.8 2.0 | 12.0 | -19.6
30 | 120 | -9.8 3.0 | 12.0 | -29.4
40 | 12.0 | -9.8 4.0 | 12.0 | -39.2

o
"The object
covers the =
same horizontal Arrows
distance every represent

veloci [ '
second " " Vectog



Question 24:
One of these representations is not like the others. Which one doesn't belong?

"The object t | do| dy

(s) | (m) (m)

covers the 00 | 12.0 | -9.8
same horizontal 10 | 120 | -9.8
distance every 20 | 120 | -9.8
second.” 30 | 120 | -9.8

40 | 12.0 -9.8

o—

t Vx VV
I ’ (s) | (m/s) | (m/s)

0.0 | 12.0 0.0

Arrows 1.0 | 12.0 -9.8
represent 20 | 120 | -19.6

veloci

veooy | 3.0 | 120 | -29.4
4.0 | 12.0 -39.2




Question 25:
One of these representations is not like the others. Which one doesn't belong?

" I
Arrows AITows
——
zg’é’tg’rtg I_ vectors I
t dx | dy t | vx Vy
(s) (m) (m) (s) | (m/s) | (m/s)
0.0 0.0 0 0.0 | 12.0 0.0
1.0 8.0 -4.9 1.0 | 12.0 -9.8
20 | 16.0 | -19.6 20 | 120 | -19.6
3.0 | 240 | 441 3.0 | 120 | -29.4
40 | 320 | -78.4 40 | 12.0 | -39.2




Question 26:
One of these representations is not like the others. Which one doesn't belong?

| I

Arrows

Arrows
represen t represent
R T

t dx dy t Vx Vy
(s) (m) (m) (s) | (m/s) | (m/s)
0.0 0.0 0 0.0 | 12.0 0.0
1.0 8.0 -4.9 1.0 | 12.0 -9.8
2.0 16.0 | -19.6 20 | 12.0 -19.6
3.0 | 240 | 441 3.0 | 12.0 -29.4
40 | 32.0 | -78.4 40 | 12.0 -39.2




Question 27:

One of these representations is not like the others. Which one doesn't belong?

|

Arrows
represent
acceleration
vectors I
t | dx | dy

(s) (m) (m)
0.0 0.0 0
1.0 8.0 -4.9
2.0 16.0 -19.6
3.0 24.0 -44 1
4.0 32.0 -78.4

t | wx Vy
(s) (m/s) (m/s)
0.0 12.0 0.0
1.0 12.0 -9.8
2.0 12.0 -19.6
3.0 12.0 -29.4
4.0 12.0 -39.2

®

Arrows
represent

velocity I_‘

vectors




Question 28:

One of these representations is not like the others. Which one doesn't belong?

t dx dy t Vx Vy
(s) (m) (m) (s) | (m/s) | (m/s)
0.0 0.0 0 0.0 12.0 0.0
1.0 8.0 -4.9 1.0 12.0 -9.8
2.0 16.0 -19.6 2.0 12.0 -19.6
3.0 24.0 -44 A 3.0 12.0 -29.4
4.0 32.0 -78.4 4.0 12.0 -39.2

) |

Arrows Arrows
represent rep resef?t

veloc acceleration

vecto g | vectors I



Question 29:
One of these representations is not like the others. Which one doesn't belong?

o—
t Vx Vy
I—‘ (s) | (m/s) (m/s)
0.0 | 0.0 0.0
Arrows 1.0 16.0 -9.8
represent 20 | 320 | -196
velocity ' : :
vectors 3.0 48.0 -29.4
I 40 | 64.0 | -39.2
"The object I
covers the I
same horizontal Arrows
= represent
d|Stance every acceleration
second."” vectors I



Question 30:
One of these representations is not like the others. Which one doesn't belong?

t | v | vy =

00 | 00 | 08 T

1.0 | 16.0 | -9.8 Arrows

20 | 32.0 | -19.6 represgnt

3.0 | 48.0 | -29.4 velooity I—
4.0 | 64.0 | -39.2

"The object I

covers the I
same horizontal Arrows
distance every represent

acceleration
second.” vectors I



Question 31:
One of these representations is not like the others. Which one doesn't belong?

[
Arrows ; Arrows
r(:)/[; ’Z‘Zlet;’ represent
acceleration
vectors ‘ veclors I
t Vx Vy . )
(s) | (m/s) | (m/s) The ODIECt
0.0 | 0.0 0.0 covers the
10 | 16.0 | -9.8 same horizontal
2.0 | 32.0 | -19.6 distance every
3.0 | 48.0 | -29.4 second."
40 | 64.0 | -39.2




Question 32:
One of these representations is not like the others. Which one doesn't belong?

o—
"The object
! covers the
Arrows same horizontal
represent distance every
velocty I— second."
I t Vx Vy
(s) (m/s) (m/s)
I 0.0 0.0 0.0
AITOWS 1.0 | 16.0 -9.8
represent 20 | 320 | -19.6
acceleration
Vertors I 3.0 | 48.0 | -29.4
40 | 64.0 | -39.2




Question 33:

One of these representations is not like the others. Which one doesn't belong?

.—b
+ SIOPG =
I ‘E -9.8 m/s/s
O
Q 0 t
Arrows >
represent T
velocity I— g
vectors -
"The vertical (:) (‘::; g‘\; “'I;‘he_obitictl's
velocity 00 00 T 00 orizontal
h b ' : : velocity remains
changes by 1.0 | 120 | -9.8
-9.8 m/s ever the same
: y 20 | 24.0 | 196 .
second." throughout its
3.0 | 36.0 | -29.4 motion."
4.0 | 48.0 | -39.2




Question 34
One of these representations is not like the others. Which one doesn't belong?

"The vertical "The object's
velocity horizontal
changes by velocity remains
-9.8 m/s every the same
second.” throughout its
motion."
(€ | m | (m | % Slope =
I_‘ 0.0 | 0.0 | 0.0 D -9.8 m/s/s
1.0 [120 [ 98 | g, ¢
Arrows 20 | 240 | -196 | -
ritatia 30 | 360 | 204 | 5 \
vectors r 40 | 480 | 392 | = -




Question 35
One of these representations is not like the others. Which one doesn't belong?

"The object's

hori I "The vertical
orizontal velocity
VE|O(;|Ity remains changes by
h e T‘ame. -9.8 m/s every
t roug. ou.tl its second.”
motion.
t dx dy =2
+
3 S|Ope = (s) (m) (m)
o -9.8 m/s/s 0.0 | 0.0 0.0 I '
E 0 t 1.0 | 12.0 | -9.8
- 2.0 | 24.0 | -19.6 Arrows
o represent
> - 50 | S04 | -29.5 velocity
4.0 48.0 -39.2 vectors



Question 36

One of these representations is not like the others. Which one doesn't belong?

>t Slope = "The object's
D -9.8 m/s/s horizontal
% 0 ¢ velocity remains
> the same
E throughout its
- motion."
.—>
t dx dy "The vertical
(s) (m) (m) .
T 0.0 | 00 | 00 velocity
1.0 | 12.0 | 9.8 changes by
Arrows 20 | 240 | -196 -9.8 m/s every
represent "
velocity 3.0 | 36.0 | 29.4 second.
vectors 4.0 | 48.0 | -39.2



Question 37
One of these representations is not like the others. Which one doesn't belong?

.—'b
"The object
covers the I
same horizontal
. Arrows
distance every represent
" veloci
second. Vectog I
I + t Vx Vy
I £ (s) | (mis) | (mis)
o 00 | 120 | 0.0
2o t 1.0 | 120 | -9.8
Arrows . ' : -
represent E 2.0 | 12.0 | -19.6
force I O 3.0 12.0 -29.4
vectors de -
40 | 12.0 | -39.2




Question 38
One of these representations is not like the others. Which one doesn't belong?

.—b
"The object
! covers the
same horizontal
Arrows .
represent distance every
veloci "
veloctty I second.
2" I t | ovx | vy
8 (s) | (m/s) | (m/s)
° I 0.0 | 12.0 0.0
> 0 t
N 1.0 | 12.0 -9.8
= ATOWS 2.0 | 12.0 | -19.6
o represent
I - force 3.0 12.0 '29.4
vectors I 40 | 12.0 | -39.2




Question 39
One of these representations is not like the others. Which one doesn't belong?

+
D

2
(&)
QD
0 t
: Arrows
g represent
force
L - vectors I
.—b
"The object t | vwx | vy
! covers the ésé (1“;’%) ('(‘)"3)
same horizontal 10 | 120 | 98
Arrows = : : :
represent distance e\f'ery 20 | 120 | 196
velocity second. 30 | 12.0 | -29.4
40 | 12.0 | -39.2




Question 40
One of these representations is not like the others. Which one doesn't belong?

I o

Arrows Arrows
represent r ?gg;%l/ﬂ
v’gg?o%'s I vectors ‘
"The object t | wx Vy .
covers the (s) | (m/s) | (m/s) =
. 00 | 120 | 0.0 o
same horizontal 0 120 | =8 s, t
distance every 20 | 120 | 196 €
second.” 30 | 120 | 2904 %
40 | 12.0 | -39.2 -




Question 41

One of these representations is not like the others. Which one doesn't belong?

+ t Vx VV

% (s) (m/s) | (m/s)

o 00 | 80 | -9.8

2o t 10 | 80 | -9.8

N 20 | 80 | -9.8

(o] -

o 3.0 | 8.0 9.8

40 | 80 | -9.8
"The

> + Slope = o
= -9.8 m/s/s I—' accelerationis a
% ¢ constant value
>0 Arrows and always
£ rep;es?nt directed
> veoey ‘ downwards."




Question 42
One of these representations is not like the others. Which one doesn't belong?

+ Slope = +
%‘ -9.8 m/s/s £
8 o
g 0 t g 0 t
o N
; o
- I =
.—b
"The . ks vy
) . s m/s m/s I
accelerationis a é ()) (8 0) (_9 3)
constant value 10 | 80 | -98
and always ' ' | Arows
o ;’ 20 | 80 | -9.8 represent
5 irec ed ) 30 | 80 | -9.8 velocity ‘
ownwards.
40 | 80 | -9.8




Question 43
One of these representations is not like the others. Which one doesn't belong?

o
"The
acceleration is a I
constant value
and always Arrows
directed : i‘;ﬁiﬁ)’:'
downwards." vectors r
t Vx V + _ N
(s) | (mss) (m/‘;) %‘ -:::5 e %‘
00 | 80 | -9.8 8 3
10 [ 80 | 98 | 2o t 2,
20 | 80 | -9.8 o ¥
30 | 80 | 98 | 2 \ S
40 | 80 | -9.8




Question 44

One of these representations is not like the others. Which one doesn't belong?

-

Arrows
represent

velocity
vectors

"The
acceleration is a
constant value
and always
directed
downwards."

+

=]

Vert. Velocity

+

=

Horiz. Velocity

Slope =
-9.8 m/s/s
t
t Vx Vy
(s) | (m/s) | (m/s)
00 | 80 | -9.8
10 | 80 | -9.8
20 | 80 | -9.8
30 | 80 | -9.8
40 | 80 | -9.8




Question 45

One of these representations is not like the others. Which one doesn't belong?

L.

L Represent

o—

Arrows

Velocity

t dx dy
(s) | (m/s?) | (m/s?)
0.0 0.0 -9.8
1.0 0.0 -9.8
2.0 0.0 -9.8
3.0 0.0 -9.8
4.0 0.0 -9.8

=

+

Slope =
-9.8 m/s/s

t

Vert. Velocity
=

-

The acceleration
is directed
upward when
rising and
directed
downward as it
falls.

(s) (m/s) | (m/s)

0.0 | 339 | 19.6

1.0 | 33.9 9.8

2.0 | 33.9 0.0

3.0 | 339 | -9.8

40 | 339 | -19.6




Question 46

One of these representations is not like the others. Which one doesn't belong?

The acceleration

is directed

upward when

L.

o—

.

rising and I Arrows

directed fleptesent

. Velocity

downward as it Vectors ‘
falls.

t ax ay 2‘+ S|°pe= t Vx Vy
(s) | (m/s?) | (m/s?) = -9.8 m/s/s (s) | (m/s) | (m/s)
00| 00 | -9.8 3 0.0 | 339 | 19.6
1.0 | 00 | -9.8 2o t 1.0 | 339 | 9.8
20| 00 | -9.8 + 2.0 | 339 | 0.0
30| 00 | -9.8 2 3.0 | 339 | -9.8
40| 0.0 | -9.8 40 | 33.9 | -19.6




Question 47

One of these representations is not like the others. Which one doesn't belong?

+ Slope = *~—
% -9.8 m/s/s I—»
o I
2o t
. Arrows
.q:) Represent
Veloci
> Vectors ‘
(t) (":/x) (:’Vv) The acceleration (t) ( :“/xz) ( "?/vz)
s s s . - s s s
0.0 | 33.9 19.6 is directed 0.0 0.0 -9.8
upward when
1.0 | 33.9 9.8 rising and 1.0 0.0 -9.8
2.0 | 33.9 0.0 directed 2.0 0.0 -9.8
3.0 | 33.9 -9.8 downward as it 3.0 0.0 -9.8
40 | 33.9 | -19.6 4.0 0.0 -9.8




Question 48

One of these representations is not like the others. Which one doesn't belong?

o—

L.

‘ Arrows
Represent

Velocity
t Vx | Vy
(s) | (m/s) | (m/s)
00 | 339 | 19.6
10 | 339 | 98
20 | 339 | 0.0
30 | 339 | -9.8
40 | 339 | -19.6

.

+

Slope =
-9.8 m/s/s

t

Vert. Velocity
[—

-

The acceleration
is directed
upward when
rising and
directed
downward as it

(s) | (m/s?) | (m/s?)

0.0 | 0.0 -9.8

1.0 | 0.0 -9.8

20| 0.0 -9.8

3.0 0.0 -9.8

40| 0.0 -9.8




